MA 15800 EXAM 3 FORM 01 FALL 2016

1. Evaluate sin (46.7°) to four decimal places.

A. 04113
B. -0.9115

© o.7218

D. 0.6858
E. 0.5642

13 . .
2. Convert § = =T to degrees, minutes, seconds. Give your answer to the nearest second.

14
(B 167°8'34" 13T 150°
5T 15 3.
B. 167°14'29" M n ———*,4 2 31423 53°
010/ ORN

C. 167°10'28 21 DDM DMS
D. 167°16'53" .

E. 167°10'10" . &3 734"

3. Given tan6 = £ and sinf < 0, find the exact value of sec§.

. \
A. sec0=§ —)'(:_ .‘1.,'?
Ysech = —2 » See®= |7 T X 1
C. sec0=—§ ~7"~
D. secf =2 A

E. None of the above

4. A radioactive element has a half-life of 45 years. How long will it take for a sample to
decay to 35% of its original mass?

ket
@ 68 years Alt) = A° =
|
B. 93 years AsYy o ek(NS') . \nt n) ~ - 0.0]54
C. 83 years A. -
D. 23 years -~0.015H4¢
E. 28 years .35 = e

= nl(3s)

~ Y
2 * To.ols4
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5. Find the acute angle z to the nearest 0.1° that solves the equation.

S

oy

Mo 0

tanz = 2.65
69.3° Fon (2.65) ~ LIDDT
72.3°
36.2°
20.7°
11.8°

6. Solve the following equation for z.

A.

@
C.
D.
E.

In(z +9) +In(z) =1In10

r=-1,z=10 In((xrq)xy =\n LO 1) \nl-10)
IE=—10,.’E=1 )(7“1-4)(-.[01'0 x

z =10 .
There are no real solutions Q(HD)('X_lb S lo’ lX - l '

7. Solve for z using natural logarithms.

35::—6 — 46:z+5

A o 6ln3—5in4 W3 =\ g
"= 53 +6n4
G x+) w3 = lox +)ny
5 . 5in3—6lnd _
= Gln3-5m4 50nB)x ~ blnd = Cndx +51 g
C. g=on3+6lnd 54n 3 — LUK =51y +6\n3
6In3 + 5In4
GIn> - LI = 5 nd +61n3
o\, _ 6ln3+5In4
@Z_5m3—61n4 X < SlnY +6 1n3
5In3 —61ln4d . 5\'73“(9[”""
B &S Gha s na
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8. Find the general solution to the equation 4sin’z = 3 - T
3
x Siatx= 74 3
s B=g s + V3
B x=g+27rn,%”+27m VOX>- - 3 335'
®z=§+7rn,~5§’5+7m X____%""_Tn
D.z=%+3n
= S n
E. z=%+2mn,% +7n X= 2'/3“-_-- AN ( 5 + 0 )

9. A ladder 26 feet long leans against the side of a building. The angle between the
ladder and the ground is 60°. Estimate the distance from the base of the building to
the ladder along the ground to two decimal places.

X

A. 45.03 feet (s b6 = 2
(B.)13.00 feet 6

C. 15.01 feet 26 Ces(00" =X

D. 52.00 feet d

. A ee x 2(’ . _21: - X
E. 22.52 feet
13 =y

10. What value of z is a solution to the following system of equations?

{5m+8y=31 x4 3y =3|

4 — Ty = -2 _ (‘-‘X "1‘\«\ =_7_>
A5 Bxt8y=3| - ﬁi“j =3
B 2 € 5(33- 157 ) 184 =3|

G g 178y = y- B3- ’5‘]
(D)3 lw-‘-}j +&3=3\

B =i 134 = (o'ﬂ]

@ Sea— X= 33-15(0) = 33-30=3
i |
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11. A robot arm is on the surface of Mars. The angle of depression from a camera on the
robot to a rock on the surface of Mars is 12.4°. The camera is 1.87 meters above the
surface of the planet. How far from the camera is the rock? Express your answer in

meters to 3 three decimal places. B=11.4°

Convere

8.708 meters .

B. 4.016 meters

B .
C. 1.915 meters '
D. 1.826 meters =) { rock
E. 8.505 meters ;

. 137 ~ §.7F0§
x 5_‘ 2.q.) g‘

12. Which of the following could be the graph of y = —2sin (%)?

? TREYANA
MA\/% a2\

D ;

2

VANA
AR

B

I T )
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13. In what quadrant will the terminal side of @ lie if cosf < 0 and sin§ > 0?7

Sine?0
A. Quadrant I (oo
( B;) Quadrant II
——
C. Quadrant III
D. Quadrant IV
E. Cannot be determined
14. Evaluate sin (—27) ~13%W, w, T 6T _ SIT
’ 3 *t 3 %3 tz T 73
V2
A. 5
1
- |
o V3 7
2
®-2
2
1
!
P=5 =4T
c
15. For the function f(z) = sin (%), find all interval(s) where f(z) > 0 on the interval
(0,8)
(0,27) U (4, 6) e
B. (m,2m) U (3m,47) U (57,67) U (7T, 87)
C. (0,7) U (27,3m) U (47, 57) U (67, T7) 2n e
D. (2m,4m)U (6m,87) J 8
» -l

. (0,m) U (3m,57) U (7, 87)




